. Small Prototype

We realized a Small Prototype of 4 layers (28 LYSO crystals):
Each cube is equipped with VTH2090 (old Large PD), VTP9412

(small PD) and WLS+SIPM (Hamamatsu S12571-010P)
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Dead Channels- Large PDs - Layer 1
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Dead Channels- Small PDs - Layer 2
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Dead Channels- SIPM - Layer 1
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Large PDs - Layer O

Event selection is
obtained requiring
three (or more) vertical
hits (dE>250 ADC) in
the Large PDs
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Large PDs - Layer 1

Event selection is
obtained requiring
three (or more) vertical
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the Large PDs
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Large PDs - Layer 2
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Large PDs - Layer 3
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Small PDs - Layer O

Event selection is
obtained requiring
three (or more) vertical
hits (dE>250 ADC) in
the Large PDs
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Small PDs - Layer 1
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Small PDs - Layer 2
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Small PDs - Layer 3
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SIPM - Layer O
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SIPM - Layer 1

Event selection is
obtained requiring
three (or more) vertical
hits (dE>250 ADC) in
the Large PDs
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SIPM - Layer 2

Event selection is
obtained requiring
three (or more) vertical
hits (dE>250 ADC) in
the Large PDs
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SIPM - Layer 3

Event selection is
obtained requiring
three (or more) vertical
hits (dE>250 ADC) in
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Summary

Large PD MIP
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SelfTrigger efficiency - Layer O
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SelfTrigger efficiency - Layer 1
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SelfTrigger efficiency - Layer 2
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SelfTrigger efficiency - Layer 3

Large PDs
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SelfTrigger on board 3

Difficult to say what happens to SelfTrigger on chip 1 ( Small PD)...
... but SelfTrigger on Chip 2 and 3 of the board (SiPM) works well! d
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SelfTrigger on board 3 - chip O

selfTrigger[8][3]:Entry$ {trigger==0x20}
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E function of the event
1= number, so it seems to be
: likely due to a faulty chip
osF- (zoom)

05—




Small Prototype
Alternative Mode - Electric Noise
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Alternative Mode - Summary

Original Mode Alternative Mode
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